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Step  AIC(Akaike’s Information Criterion)
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[1]
[2]
(3]
[4]
(3]
[6]
[7]
(8]
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[11]

[12]W.N
S-PLUS

(http://www.pref.shiga.jp/g/suisan/)

(http://www.shiga.info.maff.go.jp/)_

(http://www.pref.shiga.jp/)

(http://www.shiganogesui.jp/top.html)

(http://www.byqg.or.jp/)

(http://www.lberi.jp/root/jp/bkjhindex.htm)

(http://www.maff.go.jp/index.html)

(http://www.env.qgo.jp/)

(2005)
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(http://ja.wikipedia.org/wiki/)
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cor( [,2:ncol(

)]

<- step( , lower = 1)
AIC(Akaike's Information Criterion)
GUI
Excel
(
CoD CoD BOD BOD
1 0.5245 -0.0082 | 0.1845 | -0.3465 0.1278
0.5245 1 0.2520 |0.0910 |-0.2344 0.1413
CoD -0.0082 0.2520 1 0.7593 | -0.6128 -0.5972
CoD 0.1845 0.0910 0.7593 1 -0.4739 -0.2250
BOD -0.3465 -0.2344 -0.6128 | -0.4739 1 0.3339
BOD 0.1278 0.1413 -0.5972 | -0.2250 | 0.3339 1
-0.1947 -0.1955 0.2920 | -0.0206 | -0.0286 -0.3546
-0.2529 -0.5192 -0.1033 | -0.2934 | 0.0632 -0.1846
-0.6228 -0.2411 -0.3754 | -0.3158 | 0.7175 0.2430
-0.4101 -0.6470 -0.7661 | -0.4397 | 0.5792 0.4054
-0.3600 -0.1402 -0.0213 | 0.1984 | 0.3150 0.2217
-0.3403 -0.2036 -0.8060 | -0.7007 | 0.7177 0.5483




-0.1947 -0.2529 -0.6228 | -0.4101 | -0.3600 -0.3403
-0.1955 -0.5192 -0.2411 | -0.6470 | -0.1402 -0.2036
COD 0.2920 -0.1033 -0.3754 | -0.7661 | -0.0213 -0.8060
COD -0.0206 -0.2934 -0.3158 | -0.4397 | 0.1984 -0.7007
BOD -0.0286 0.0632 0.7175 0.5792 0.3150 0.7177
BOD -0.3546 -0.1846 0.2430 0.4054 | 0.2217 0.5483
1 0.7674 -0.1339 | -0.3461 | -0.4628 -0.3191
0.7674 1 -0.0619 | 0.1309 -0.4286 0.0525
-0.1339 -0.0619 1 0.5899 0.5685 0.6977
-0.3461 0.1309 0.5899 1 0.4037 0.7873
-0.4628 -0.4286 0.5685 0.4037 1 0.3520
-0.3191 0.0525 0.6977 0.7873 0.3520 1
¢ )
Call: Im(formula = ~ + +
+ + + + +
, data = , ha.action = na.exclude)
Residuals:
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
1.603 2.384 9.464 8.243 -4.565 5.457 -29.99 -4.25 -8.23 18.58 -15.47
23.11 8.467 -14.47 -2.803 2.472
Coefficients:
Value Std. Error t value Pr(clt])
(Intercept) -812.1309 912.5446 -0.8900 0.4238
28.7787 55.5677 0.5179 0.6319
82.8162 118.7062 0.6977 0.5238
235.0746 297 .5557 0.7900 0.4737
-284.1189 208.3910 -1.3634 0.2445
259.9752 240.0079 1.0832 0.3397
153.8477 140.4460 1.0954 0.3349
-376.7612 697.4390 -0.5402 0.6177
356.4054 651.8849 0.5467 0.6136
11481.0060 16711.2581 0.6870 0.5298
19911.2135 17352.8488 1.1474 0.3152
0.0170 0.2866 0.0594 0.9555

Residual standard error: 25.57 on 4 degrees of freedom

Multiple R-Squared: 0.948

F-statistic: 6.631 on 11 and 4 degrees of freedom, the p-value is 0.04127




(AIC )

Call: Im(formula = ~ + + +
data = , ha.action = na.exclude)
Residuals:

Min 1Q Median 3Q Max
-38.47 -11.84 1.866 14.75 25.48

Coefficients:
Value Std. Error t value Pr(lt])
(Intercept) -335.1311 255.9415 -1.3094 0.2171
136.3269 48.8947 2.7882 0.0176
-119.7481 48.4274 -2.4727 0.0310
219.2845 127.4914 1.7200 0.1134
18433.3751 3927.1294 4.6939 0.0007

Residual standard error: 21.91 on 11 degrees of freedom
Multiple R-Squared: 0.8951

F-statistic: 23.46 on 4 and 11 degrees of freedom, the p-value is 0.00002439



